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Quadrilateral Practice

Directions: In #1-5 find all of the missing angles.

Pa ralic IOg ram 1. Given that m<1 = 15° and m<3 = 85° for the parallelogram, find the

following angles:
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2. Given that m<1 = 20° and m<4 = 40° for the ReCta ngle

rectangle, find the following angles:
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Square

3. Given that the shape is a square, find the following angles:
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Rhombus

4. Given the m<9 = 30° for the rhombus, find the following angles:
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5. Given m<7 = 53° for the isosceles trapezoid, find the
following angle measures:
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Isosceles Trapezoid

Identifying Properties: In problems 6-13 below, list the letters of the quarilaterals that the
properties hold true for:

@Paraﬂelogram Rectangle ¢) Rhombus @Square

6. Diagonals bisect each other. 7 All<sare right <’s

@L 8 b ] d b V] d
8. All sides are congruent. 9. Opposite sides are congruent.
10. Opposite angles are congruent. 11. Diagonals are congruent.
12. Diagonals are perpendicular. 13. Opposite sides are parallel.
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Directions: Find the missing angle measure or variable. Show all work! Justify your set ups!

14. ABCD is a rthombus. If m<8=35°,
Find the measure of <1, <2, <3, <4,

15. ABCD is a rectangle. If m<1=20° find the
measures of <2, <3, <4, <5, <6.
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16. ABCD is a square. If AC=16in and
BD = 2x + 4, find x. P .
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17. ABCD is a parallelogram. AR= 2x+ 3,
RC= 35, BR= 4y — 10, DR= 90. Find x andy.
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18. For trapezoid DEGH, X and Y are
midpoints of the legs. Find DE.
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For trapezoid QRST, A and B are
midpoints of the legs. Find AB,
m£Q, and m«LS.
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20. Find x in the parallelogram. L 21. Find x in the parallelogram.
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22. Find x in the parallelogram. 23. Each side of a quadrilateral is 12 cm long. Which 2 of

i : i i drilateral?
v w ~ \OD the following nust also describe this qua
V y :NX LPAQ I Square (sides of equal length and 90° angles)
| ?‘m II. Rhombus (sides of;:q\;al length)
ar-3 .. 8 III. Rectangle (90° angles
7 L) X=OF \ 7 ~ 1IV. Parallelogram (opposite sides paratlel)
2 - A. TandII only
Y X 9 X = 20 B. 1and III only
Y'_’ Z C. Iland {II oniy‘
- D. Il and IV only
A b E. Il and IV only

24, Write geometric statement along with the correct justification for parallelogram ABCD.

a.) AB =~ _DCz because: () 'DP S>\ d@) Qe ; E
b.) <ABC =~ < AD I OP]P oQ0\Wes axe = A 0
c)EA = EC because : ' |

d.)BC// E!2 because : (";‘OP ides owe. /
e)<BAD =~ €BCD because: O’\‘)i‘) cN 3\\6\5 Qe =

f) <BEA =~ <CE because: @\ ‘h(‘(),@ 45 Qe E‘

g) <BCAgmbecause: CKH' it %S Qce =
h.) <BCD +<CDB =180 because: 0N Se (- 4S QP SU P?\

25. Use rhombus PLAN to write the correct geometric statement (if needed) and justification.

a.) AL =~ PL because : L—, = 8ides o o chombos

P L

b.) <NEA =90 because : me CL(Q _L
c)EA~ ﬂ because : dm.{:j biSﬁC‘\' PQ(‘.h ("'H_’\ﬁ(

d)NA// ? - because : D(\)\D S\ des Qfe //
e.) <NPE = LLPH because :

f)<PLA g‘PNR because : D(‘Q\D /”5 Gfe =

g)<INA~ 4LNY because: Obulﬂ bsect the CL(\Gj"leS
h.) <LEA =90 because : dk& ﬁ e _)_




